
nh?kZ mÙkjh; iz'u ¼Long answer type questions½
funsZ'k % fuEufyf[kr iz'uksa ds mÙkj foLrkj ls nhft,A

26. iukek ugj us vUrjkZ"Vªh; O;kikj dks c<+kus ds fy, fdl izdkj
;ksxnku fn;k gS \ Li"V dhft,A
(Explain how panama canal had helped increasing the
international  trade.)

27. ÅtkZ ds lk/kuk ds :i esa rki fo|qr ,ao ty fo|qr esa rqyuk
djsaA (Compare between thermal power and hydro electricity as
sources of energy.)

28. Hkkjr esa tula[;k dk forj.k cgqr vklku gSA O;k[;k djsaA
(Distribution of population in India is highly  uneven. Discuss)

29. fn, X, lalkj ds ekufp= esa fuEu dks fn[kkb,A
(Show the following in the map of world  provided)

a) nå vÝhdk b) vkWLVªsfy;k c) dukMk

d) Jhyadk e) tkiku
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5X4 = 20

22. xSj ijEijkxr ÅtkZ L=ksrksa dk o.kZu djsa \
(Discuss the source of non-traditional energy ?)

23. Hkkjr esa flapkbZ dh vko';drk D;ksa gS \ o.kZu djsaA
(Discuss why there is need of irrigation in India ? )

24. Lost ugj ,ao iukek ugj dh rqyuk djsa \
(Compare Suez canal and Panama canal ?)

25. ekuo fodkl ls vki D;k le>rs gSa \
(What do you mean by Human Development ?)

ABM COLLEGE, JAMSHEDPUR
SUBJECT : GEOGRAPHY

XII INTERMEDIATE SECOND INTERNAL EXAM, 2019

Time : 3 hrs.Full Marks : 70

(General Instruction )lkekU; funsZ'k
(I) iz'u la[;k 1&10 rd cgqfodfYi; iz'u gSA izR;sd iz'u 1 vad dk gSA
(II) iz'u la[;k 11 ls 20 rd y?kq mÙkjh; gSa] izR;sd iz'u 2 vad dk gSA

ijh{kkFkhZ viuk mÙkj 30 'kCnksa ls vf/kd u nsaA
(III) iz'u la[;k 21 ls 25 rd y?kq mÙkjh; gSa] izR;sd iz'u 4 vad dk gSA

ijh{kkFkhZ viuk mÙkj 100 'kCnksa ls vf/kd u nsaA
(VI) iz'u la[;k 26 ls 29 rd nh?kZ mÙkjh; gSa] izR;sd iz'u 5 vad dk gSA

ijh{kkFkhZ viuk mÙkj 200 'kCnksa ls vf/kd u nsaA

1. uo fu'p;okn ds izoÙkZd dkSu Fks \
(Who was the founder of Neo. Determinism )
a) Vsªyj (Taylor) b) gEcksYV (Humboldt)

c) jsVtsy (Ratzel) d) Cyk'k (Blache)

2. mÙkjek'k vUrjh; lkeqfæd ekxZ fLFkr gSA
(Cape of good hope sea route is situated in)
a) vU/k egklkxj esa (Atlantic Ocean)

b) fgUn egklkxj esa (Indian Ocean)

c) iz'kkUr egklkxj esa (Pacific Ocean)

d) buesa lHkh (None of these)

3. Hkkjr esa lcls iqjkuk ykSg rFkk bLikr m|ksx dkSu gSa \
(Which is the oldest Iron & Steel Industry ?)
a) IISCO b) HSL c) MISCO d) TISCO

4. fo'o O;kikj laxBu dk eq[;ky; dgk¡ gS \
(Where is the headquarter of  W.T.O ?)
a) tdkrkZ (Jakarta) b) eksUVsfofM;ks (Montevideo)

c) tsusok (Gencva) d) czlsYl (Brussels)

1X10 = 10
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2X10 = 20
vfr y?kq mÙkjh; iz'u ¼Very short answer type questions½

funsZ'k % fuEu iz'uksa ds vfr laf{kIr mÙkj nsaA

11. izkFkfed fØ;kdyki fdls dgrs gSa \
(What are Primary activities ?)

12. fu'p;okn ls vki D;k le>rs gSa \
(What do you mean by Determinism ?)

13. iznw"k.k vkSj iznw"kd ds chp vUrj crkb,A
(Difference between Pollution and Pollutant )

14. ekuo fodkl lqpdkad dh x.kuk fdu ?kVdksa ls dh tkrh gS \
(Which components are used to calculate Human Development
Index ?)

15. dPps eky ij vk/kkfjr m|ksx ds nks mnkgj.k nsaA
(Give any two example of an industry which is based on raw
materials)

16. fyaxkuqikr D;k gS \
(What  is sex ratio)

17. fuokZg ewyd �f"k ls vki D;k le>rs gSa \
(What  do you understand by subsitance agriculture)

18. futhdj.k ls vki D;k le>rs gSa \
(What  do you mean by Privatisation ?)

19. lwpuk izkS|ksfxdh ls vki D;k le>rs gSa \
(What  do you mean by Information Technology ?)

20. ikbi ykbu ifjogu ds nks ykHk crkb,A
(Mention two advantages of  Pipe Transport)

4X5 = 20

y?kq mÙkjh; iz'u ¼Short answer type questions½
funsZ'k % fuEufyf[kr iz'uksa ds laf{kIr mÙkj nhft,A
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21. tula[;k ds forj.k dks izHkkfor djus okys fdUgha pkj HkksxkSfyd
dkjdksa ds uke fyf[k, \
(Name any four geographical factors that influence the distribution
of population ?)

5. ^lEHkokn* 'kCn dk iz;ksx loZizFke fdl Ýkalhlh fo}ku us fd;k \
(Which french schoolar first wed the term possibilism ?)
a) foMky Mh yk Cyk'k (Vidal de la blaach)

b) yqfl;u QScjs (Lucian Fabre)

c) Ýkafll csDe (Francis Bacon)

d) ftUl czwUl (Jeans Brunches)

6. ^D;wck dh jkuh* fdls dgk tkrk gS \
(Which is called  'Queen of Cuba' ?)

a) pkoy dks (Rice) b) xsg¡w dks (Wheat)

c) xUuk dks (Sugarcane) d) dikl (Cotton)

7. Lost ugj tksM+rh gS &
(Suez Canal joins)
a) Hkwe/;lkxj vjclkxj (Miditerranean Sea - Arabian Sea)

b) Hkwe/;lkxj ykylkxj (Mediterranean Sea - Red Sea)

c) Hkwe/;lkxj dkyklkxj (Mediterranean Sea - Black Sea)

d) dkyklkxj & ykylkxj (Black Sea - Red Sea)

8. fuEu esa ls dkSu Qly ,d is; Qly gS \
(Which one of the following crops is beverage crop)
a) xUuk (Sugarcane) b) pk; (Tea)

c) xsg¡w (Wheat) d) dksbZ Hkh ugha (None of these)

9. fdlus dgk ^^ekuo iz�fr dk nkl gS** %
(Who said 'Human is stave of nature')
a) gfVxVu (Hutington) b) vjLrw (Aristotle)

c) ,ysu lsEiqy (Ellen - Sempl) d) cDys (Buckle)

10. ,UFkzksiksT;ksxzkQh fdlus fy[kh \
(Who wrote 'Anthropogeography ?)
a) foMky Mh yk Cyk'k (Vidal de la blaach)

b) jsVtsy (Ratzel)

c) MkfoZu (Drawin)

d) dqekjh ,ysu lsaiy (Miss Ellen Semple)
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